Examen de fin d’études secondaires

Formules trigonomeétriques

SectionsB,C,D, E, F
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sin?z +cos’z =1
1 ) tan® x 1

cosQ:v:—2 s1n2:1::—2 1+ tan’z = 5

1+ tan®z 1+ tan“ z cos” x
Sin(m —z> = sinz sin(m+z) = —sinz sin(—x> = —sinx
COS(TT — ) = —COSZT cos(m+x) = —coszx COS(—ZI) = COST
tan(m — x> = —tanx tan(m+ ) = tanzx tan(—z> = —tanz
sin(3—z) = cosz sin(3+ ) = cosz
cos(3 —z)=sinz cos(3+1z)=—sinz
tan(3 —z) = cotx tan(3 4+ z) = —cotw
sin(z + y) = sinxcosy + cosxsiny tanz -+ tany

tan(z +y) =

sin(z —y) = sinzcosy — coszsiny 1 —tanztany
cos(x +y) = coszcosy —sinxsiny tan(z —y) = tanz — tany

cos(z —y) = coszcosy + sinzsiny

14 tanxtany

sin2x = 2sinxcosx
2 )

cos’ z = +(1 + cos2z)
2

cos2xr = cos” x —sin“ x sin“r = %(1—00821‘)
: 2t 1 — tan? 2t
sin2z = Lﬂg cos2r = # tan2r = a,nag
14 tan“z 14+ tan“z —tan“z
sin3z = 3sinz — 4sin® z cos3z = —3cosx + 4cos®
+

sinp + sing = 2sin 54 cos 52 .
sin p — sing = 2sin 232 cos 254 b 1 COS P COS q

_ p+q p—q . .
COS P + €OSq = 2 €085 COS tanp—tanqzsm(p q)

COS p CcOs

cosp — cosq = —2sin L3 sin 2L peosd

sinxcosy = %[sin(:v—l—y)—l—sin(x—y)]
coszcosy = $[cos(z +y) + cos(z —y)]
sinzsiny = $[cos(z —y) — cos(z + y)]




